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BIEFHED T ImI<BET 5L AIERHER
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= = T AN 4 UE D\ | = = U2 A\ - = U D\ = =
1 100kN/m#E#BZ % 1.00| 000 ~ 1.35 12042 |3m%EF{BZ S -~ — — —| 100kN/m%#8%%| 1.00 (1059 ~ 14.86 12042 |3m%EF{BR S -~ - — —
Th s 1.00] 135 ~ 9.13 100.00 | Zhiist | 000 ~ 9.13 | 2.24 11.34 zh s 1.00 | 5.00 ~ 10.59 100.00 | Zh st | 500 ~ 1486 | 2.24 11.34
2 100kN/m#E#BZ % 1.00| 000 ~ 1.78 127.26 |3mZEF{EZ 5 -~ — — —| 100kN/m%#8%%| 1.00 (1054 ~ 16.76 127.26 |3mZEkEZ S -~ - — —
Th s 1.00]| 1.78 ~ 9.56 100.00 | Zh st | 000 ~ 956 | 2.21 11.18 zh s 1.00 | 500 ~ 10.54 100.00 | Zh st | 500 ~ 16.76 | 2.21 11.18
3 100kN/m#E#BZ % 1.00| 0.00 ~ 0.19 102.84 |3m%E{EZ S -~ — — —| 100kN/m%#8%%| 1.00 (1120 ~ 11.73 102.84 |3m%EF{EZ S -~ - — —
Th s 1.00| 019 ~ 7.98 100.00 | Z#hList | 000 ~ 798| 1.93 9.75 zhs 1.00| 5.00 ~ 11.20 100.00 | Zh st | 500 ~ 11.73 | 1.93 9.75
4 100kN/m#E#BZ % 1.00| 0.00 ~ 0.19 102.83 |3m%EF{EZ S -~ — — —| 100kN/m%#8%%| 1.00 (1120 ~ 11.73 102.83 |3m%EF{EZ S -~ - — —
Th s 1.00| 019 ~ 7.98 100.00 | ZhList | 000 ~ 7.98 | 2.38 12.03 zhs 1.00| 5.00 ~ 11.20 100.00 | £h st | 500 ~ 11.73 | 2.38 12.03
5 100kN/m#E#BZ % — -~ — —|3m%EEZD -~ - — —| 100kN/mi%E#BZ % — -~ — —|3mEEZD -~ — — —
Th s 1.00 ]| 000 ~ 434 5425 | ZnList | 000 ~ 434 1.97 9.98 Th s 1.00| 500 ~ 5.00 5425 | FnList | 5.00 ~ 500 | 1.97 9.98
6 100kN/m#E#BZ % 1.00| 000 ~ 1.36 120.65 |3mZEF{EZ S -~ — — —| 100kN/m#%#8%%| 1.00 [10.60 ~ 15.24 120.65 |3m%EF{EZ S -~ - — —
Th s 1.00] 1.36 ~ 9.15 100.00 | Zh st | 000 ~ 9.15| 2.32 11.70 zhs 1.00 | 500 ~ 10.60 100.00 | £h st | 500 ~ 1524 | 2.32 11.70
7 100kN/m%E#BZ % 1.00| 000 ~ 1.19 117.96 |3mZF{EZ 5 -~ — — —| 100kN/m%#%%| 1.00 [11.09 ~ 1569 117.96 |3mEF{EZ S -~ - — —
Th s 1.00| 119 ~ 8.97 100.00 | £h st | 000 ~ 897 | 2.21 11.19 zhs 1.00| 500 ~ 11.09 100.00 | Zh st | 500 ~ 1569 | 2.21 11.19
8 100kN/m#E#BZ % 1.00| 000 ~ 1.17 117.61 |3mZF{EZ S -~ — — —| 100kN/m%#E%%| 1.00 [10.57 ~ 14.35 117.61 |3mZF{EZ S -~ - — —
Th s 1.00] 117 ~ 8.95 100.00 | ZhList | 000 ~ 895 | 2.14 10.83 zhs 1.00 | 5.00 ~ 10.57 100.00 | Zh st | 500 ~ 1435 | 2.14 10.83
100kN/m#E#BZ % ~ 3ImZHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zhs ~
100kN/m%E#BZ % ~ 3ImEHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zhs ~
100kN/m#E#BZ % ~ 3ImEHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zzhs ~
100kN/m%E#BZ % ~ 3ImzHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zzhs ~
100kN/m%E#BZ % ~ 3ImEHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zzhs ~
100kN/m#E#BZ % ~ 3ImEHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
Th s ~ Zhst ~ Th s ~ Zhst ~
100kN/m#E#B 2 % ~ 3ImEHEZD ~ 100kN/m%E#B 2 % ~ 3ImEHEZD ~
ZTh s ~ Zh st ~ ZTh s ~ Zh st ~
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